ERB0EE BHNEERBEEBELAETEERXOEEZERE—RERHs0.10185)

(B[
HENEES REH | MBIRTERE
Nol | IEEEERIGXESEXEWHYE 16 11,344,000
No2 | BEfEEERXZXEEXEMME 61 96,884,000
No3 | EfEEEERLIXEEXEHUS 0 0
No4 | EERMEEXIEEXEHDS 1 3,000,000
Nod-2 | EfMBEXEEXEHUS(VHBKTEERUVERERTH] 0 0
No5 | RREFHEMEKMEXEEXEMME 2 1,337,000
No6 | BERE -ERAIVIMEREIIEEEEMHMES 3 1,472,000

Bt

83| 114,037,000

Nol HEEEERREXBEEXREMEE

g i FHBNIR ERE

1 |[BAXEEFIRMERGE g AKX 800,000
2 | ERMXEFEEZEMHERB hy E— 535,000
3  |BHXEFEFIMERE il #Ez 800,000
4 | BHMKEFEFIMERB BH =HF 787,000
5 |BHXFEFIMERE £ = 630,000
6 |SHMEEtEI— XKIF L 582,000
1 | EHEEREE2— felH Eid 800,000
8 |SHMEEtEVI— Fal = 800,000
9  |BHFTFRE mdt A= 800,000
10 |SHEEtE 2— BE & 630,000
11 |SHEEtE 22— 8 FEA 700,000
12 |SHEEtE 2— BH F= 580,000
13 |EHF+FRiE S BE 800,000
14 Rk AR [GR 800,000
15 E&HmEkE kg I 800,000
16 |EfmbEi#E S 5wk 1ERE 500,000

=i 11,344,000

No2 BEfESERXEEXEME
Bl i FHBNR EEE

1 SHKXZEZFEBME R BIEA RIE 3,750,000
2 | EHMXEFEZFEMHERB FH AL 1,760,000
3 |EHMXKEEZEMEREE EAR FE 896,000
4 |EBHXKEEZFEMERRE A0 HH 1,840,000
5 |EBHMXEEZEMEREE Btk gt 3,175,000
6 |SHXFEFEMHERBE HE —EBB 1,600,000
7 |EBAXZFEZERME R EEIRE L 960,000
8 |ESRMXFEZFEMERBE TEWF  F05h 3,750,000
9  |EHMXEEZHMHERERE PR 1,600,000
10 |SRXZFEZFEHERB 3 2,800,000
11 [SEXEEFIRME R HWE BE 1,999,000
12 |SRXFEZEMHERBE R FE— 2,800,000
13 |SRXEEZEMEREE HE FEH 1,200,000
14 |SRXFEZEMHE R IR B 215,000
15  |SfHXEEZEHEREE Bl 8= 2,589,000




16 |SRXFEZEMHERB B8 Bt 2,400,000
17 |SRXEEZEHEREE HMN B2 1,805,000
18 |SRXFEZEME R a5H 1TE 960,000
19  |SRXEEZEMHEREE L IEE 3,528,000
20 |SiKEEFIMERGE Wtk 5+ 960,000
21 |SAKZEEZEIMERE H B 3,750,000
22 |BHKEEFEIMERGE Ef = 3,750,000
23 | KEZEEZFEMERE 1£%F ki 3,064,000
24 | EHMXZEEZEHERE g Ei= 1,540,000
25 |SHEEEVE— KE BN 500,000
26 |SHEEEI— AH RBIs 1,280,000
27 |BHEEEVE— BA = 864,000
28 |EHEEtE I— 25 A 960,000
29 |BHEELEVE— EH B 370,000
0 |[EHEEtI— PR th— 3,200,000
3 |SHEEEVS— X FA 690,000
32 |EHEEtI— EE K#H 500,000
33 |SHNEEEVE— BE B 700,000
4 |BHNEEEVE— BFRE 2,800,000
35 |SHMEEEVE— MK R 983,000
6 |SHMEEEVI— i) SR E 9% 1,209,000
37 |BHEEEVE— i) == e 2,000,000
38 |EHEEtLFI— ® e 1,440,000
39 |BHMEEEVE— FA & 500,000
0 |SHNEEtE 77— HA #$= 500,000
M| ESHEEEI— = 5= 500,000
12 |SHNEEtLF— ¥, BA 737,000
43  [BHF+FRIE T8 SR 500,000
44  |EHF+FREE B HA 442,000
45 ([EHF+FRIE =2 f#H— 1,600,000
46 | ESEF+F R AH EfT 832,000
47  ([BHF+FRE fl EE 2,400,000
48 | EEF+FmhE HE F=1T 15,000
49 ([EHF+FRE £FH = 1,209,000
50 |&HF+FRmhE £85I B 960,000
51  [iEFximbT JUF FOEK 3,750,000
52  |[iEFRARE AL 2 1,280,000
53 |iEFxmEbT J\K 2 3,750,000
54 |[iEFRAERE TE HH 1,280,000
55 |EFHZAEE A BEF 1,280,000
56 |E LRSS AR 21l B4 907,000
57 |EILRREREAE SRR AT 2l TR 604,000
58 |1 Z(+AH AR B EA 375,000
59 |BZ I+ AHATER L@ sh 2,016,000
60 |[1&Z(+TAH AR KER #F0 610,000
61 |BZFAHATRR JerE EE— 650,000

=111 96,884,000




No4 EMBZFXEEXEMIE

g FREE fRENREEE
1 SR RFEF MR R Hi &E 3,000,000
&5t 3,000,000
No5 REREMERNESXEEXEMHBE
s FHBNIR ERE
1 EEEIANEES BMEk 537,000
2 |[EEEANCRE (BERER) 800,000
peT 1,337,000
No6 FHEBK ERAZVIUEBREXEEXZEMISE
s _ fRBNRERE
1 SAMEEEEERREEESS (AR R 500,000
2 |xiEmAIEETERE 500,000
3 Eﬁ,ikﬂﬁ,én(b\fﬂwiﬁﬁ) 472,000
=&t 1,472,000




